CLASS: INDIAN SCHOOL MUSCAT SUBJECT:
Xl FINAL EXAMINATION -2019 COMPUTER
SCIENCE
SET-A
QP.NO. VALUE POINTS SPLIT UP
MARKS
1.(a) | Ans: Yo +% =1
iostream.h
math.h
(b) | Ans:
#define Equation(p,q) p+2*q // error 1 Yo +%+% +Y%
void main() =2
{
float A=3.2, B=4.1; // error 2
int C=Equation(A,B);// error 3
cout<< “Output="<<C<<endl; // error4
}
(c) | Ans: Cost, Switch, Delete, Numberl12 Yo +Y+1h +1
= 2 Marks
(d) | Ans: iv) 20#250# Yo +%+Y% +%
Min value of Start= 2 = 2 Marks
Maximum value of Start =3
(e) | Ans: 1+1+1 =
50240 3 Marks
290340240
340240
® Ans: 1+1+1 =
100* 3 Marks
15*20*25*
30*90
2 (a) | Ans: The ability of a message to be displayed in more than one | 1+ 1 =2 Marks
form. C++ example
(b) | Ans: Two differences each of procedural and object oriented 1+ 1=2 Marks
programming
3 (a) | Ans: Proper class definition 1 Mark
Newplan( ) 1 Mark
NOB calculation 1 Mark
Show() function 1 Mark
4(a) | Ans:
() CAMERA C(“SONY”, 25000)- 1 Mark
(iiy CAMERA(CAMERA &T)
{ strcpy(Brand, T.Brand) ; Price = T.Price ;} 1+ 1 =2 Marks

OR
Ans:Definition of copy constructor
Example

(b)

Ans: Any four characteristics of constructors.

Yo+t +Y%+%




= 2 Marks

5 (@) | i) 40 bytes 1+1+1+1 =
i) Get( ), Getd( ) and Showd( ). 4 Marks
i) Getd() and Get()
iv) Multiple Inheritance
6 (a) | Ans: File object declaration and linking Y% Mark
File Processing 1 Mark
Output Y2 Mark
(b) | Ans: File object declaration and linking
File Processing
Output 1 Mark
OR 2 Y2 Marks
Y2 Mark
Ans: File object declaration and linking
File Processing
Output
(c) | Ans: File.seekp(-1 * sizeof(S), ios:cur); 1 Mark each Y% Mark
File.write((char *)&S, sizeof(S)) ; Y Mark
OR
Ans: seekg() to position the get pointer during the reading
tellg() is used to get the size in bytes of records in a file during | %2 Mark
file reading. The size depends on the position of the record. Y2 Mark
7 (a) | Ans: Function header Y Mark
Binary search logic 2 Mark
Output Y2 Marks
(b) | Ans: Function header Y Mark
Selection sort logic 2 Marks
Output Y2 Marks
(c) | Ans : Function header Y2 Mark
Logic 2 Marks
Output Y Marks
OR
Ans: Function header Y2 Mark
Logic 2 Marks
Output Y2 Marks
(d) | Ans:
Formulae: B+W( C (I-Lr) +(J- Lc)) Y Mark
Working 2 Marks
Correct result :8620 Y2 Marks
OR
Ans:
Formulae : B+W( (I-Lr) + R(J- Lc)) Y2 Mark
Working 2 Marks
Correct result : 5260 Y2 Marks
8 (a) | Ans: Function header Y2 Mark
Push logic 2 Y2 Marks




(b)

Ans:
Function header
Queue element insert logic

OR
Ans:
Function header
Queue element delete logic

% Mark
2 ¥ Marks

% Mark
2 ¥ Marks

©)

Ans: Stack status
Result : PQRS- *T/+

1 ¥ Marks
% Marks

9 (a)

Total number of rows in a table is known as cardinality.
Total number of columns in a table is known as the degree of a
table.

1 +1 =2 Marks

(b)

Primary key is a used to uniquely identify a row from a table.
The candidate key which is not a primary key is known as an
alternate key.

1+1 =2 Marks

10

i) Select Bookname, Author_name , Price from Books
where publisher="First Publ’;

i) Select Bookname from Books where type="Text’;

i) Select Bookname, price from Books Order by Price;

iv) Update Books set Price=Price+50 where publisher =
‘EPB’;

V) Select a.Book_id, a.Bookname, b.Quantity Issued from
Books a, Issued b where a.Book_id=b.Book_id ;

vi) Select Pulisher,count(*) from Books group by Publisher ;

vi) Select Avg(Price) from Books ;

vii) Insert into Issued Values (‘F0003°,1);

iX) 5

X) 750

xi) Fast Cook Lata Kappor
My First c++ Brain & Brooke

xii) 1

8 Marks

2 Marks




